Math 2D Morning Last Quiz - December 1st

Please put name on front & ID on back for redistribution!

Show all of your work. *There is a question on the back side.*

1. [10pts] Compute the integral of f**‘:"ﬂ-!\
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Please sketch the domain of integration, too.
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2. We will find the volume between the planes 3z + 2y — z = 0 and z = —1 within the zy region
S F L =) . T yv=E5)
bounded by the curves y = z* and x = y~. ‘lj \5 = K ( X=4y

(a) [1pt] Sketch t-he(doma.in of integration/
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(b) [6pts] Set up the integral that finds the volume in both orders, as drdy and as dydz.
Be sure to have the correct integral bounds and the correct function inside the integrals.
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(¢) [3pts] Compute the volume using one of the integrals in part (b).
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